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QUESTION 1

Identify two actions that occur if a user is set to an Inactive status (Choose two.) 

A. The user can be selected in User Pickers. 

B. The user\\'s permissions can be changed. 

C. The user can be assigned to new Groups. 

D. The user cannot log into Unifier. 

E. The user can be given new tasks. 

Correct Answer: CD 

 

QUESTION 2

View the Exhibit. 

Identify two Business Process typeswhere the Find tab interface in Log Properties is split two halves (Choose two.) 

A. Document 

B. Simple 

C. Line Item 

D. Text 
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E. Shell 

Correct Answer: AC 

 

QUESTION 3

Identify one benefit of using Folder Structure templates. 

A. to manage or controlproject documents 

B. to assign permissions to documents 

C. to store project documents or deliverables 

D. consistent document management protocols across projects 

Correct Answer: A 

 

QUESTION 4

View the Exhibit. 

Which two statements about the date formula built on the Vendor Active Date field are true? 

A. It derives a numeric valueas the result. 

B. It is an example of Date Difference. 

C. It is an example of date Add. 

D. It derives another date as the result. 

E. It derives a number as the result. 

Correct Answer: A 
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QUESTION 5

Identify the column in the basic Data Definitions log that indicates how data is stored in the database. 

A. Category 

B. Input type 

C. Data size 

D. Data type 

Correct Answer: D 
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